SH: AED
B A)|ES ENEY X
el DIREA AEYUD =X CERE)
SA B ER(S) - MRAE - BaS Of &r e HIDE
A1 813,368 973,529 A160, 161
MJIE2 FHEE x4 754,173 901,889 N147,716
Qo AFRHR =8 754,173 901,889 N147,716
AdF QoA 76,850 48,605 28,245
201 LBty 69,250 41,725 27,525
01 AtR2t2|bl 47,900 32,000 15,900
OA=fde 2d+< 35,900
—&o e 70,0003 x25E %103 17,500
—ZtE 30,000 x25& *102 7,500
—NEYo g 50,0002 *3E 62l 900
—ANEBESE 50,0002 x20E *102] 10,000
OZMSA SH&HEXNE HE 20,0002 260 5,200
Ox&ZA==(BB) USSI M=
300,000% x624 1,800
OHZAE2S T T2 2
5,000,000& 5,000
02 s&=4| 7,950 9,725 A1,775
OA=g R RBZ 7,950
—goeH 2502 +15,000A 3,750
—sJ|If# 1,750& %2, 400 4,200
03 gAr=4d| 13,400 0 13,400
OAa==2ste 2¢ 13,400
— &SI A& 300,000 *57K 1,500
—SHEM 280,000 *5H 1,400
—&AI2l HAH= 50,0002 504 2,500
—dH3 A= 1,000,000& *38 3,000
—HE5+=5% MH 8,000 *500& 4,000
—EAH & SR N 1,000,000& 1,000
202 OdHl 3,600 3,600 0
01 =WHHI 3,600 3,600 0
Olugrn=s & sAEE ANEE8 oyl
100,000 «3& *12& 3,600
203 R F=dHI 4,000 3,000 1,000
03 AIBFZHE =AY 4,000 3,000 1,000
OA=RDMNAUZ =& 4,000,000& 4,000
e A 65,601 150,000 A84,399
207 SR 65,601 150,000 84,399
01 HASAHI 65,601 0 65,601
OFTAl SSAY /B 715 89
65,601,000 65,601
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S ASD
Zu: M)|ES FAHEY =Y
9l DIRIGA AZAR S (S &)
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
SSTEHI XJ & 22 585,300 591,740 A6,440
201 e 6,300 12,180 A5,880
01 AtSZeltl 6,300 12,180 A5,880
OBE=S 2| AKX DS BA=T
300,000& *3& *15] 900
O2LIt tARIRS 2g+E 4,000
—do 70,0003 «10H »43] 2,800
— =g 30,000& «10€ »43] 1,200
OZsF8 Zte| 2AHX nsu
7,000 200 1,400
301 getEas 1,000 1,560 2560
12 JIEtE2a= 1,000 600 400
OSs8 =t E 500, 0002 204 2~ 1,000
307 2I2+0I M 578,000 578,000 0
02 QB AE L 578,000 578,000 0
OZTEFH oXlg XX
20,000,000 251 &+ X 500,000
OZFYUHOHLE HMII= 6,500,000& 12 78,000
A=E2 AIZS0 25,022 88,959 AB3,937
201 LEr23H| 25,022 88,959 AB3,937
01 AtSZeltl 25,022 88,959 AB3,937
OAZAt BZEA, AAZO ALY S4E
40,0343 *5A| 2F% 12524 25,022
FEHAHAE MHIA WS 1,400 5,100 A3,700
201 YLEr23H| 1,400 2,100 A700
01 AtSZeltl 1,400 2,100 A700
OZSsF8 2| 2AIHEAARE 29+ 1,400
—do=g 70,0003 *7H +23] 980
—=it==¥ 30,0003 *7H *23] 420
HE2IHHI(AS) 59,195 71,640 A12,445
QIR A| 4,200 4,200 0
=galsl 4,200 4,200 0
203 HRF=&H| 4,200 4,200 0
04 FEA2ILRFLHI 4,200 4,200 0
ORAM2EHRFAH 350,000& *12& 4,200
Jl=&l 54,99 67,440 AN12,445
223 27,635 31,440 A3,805
201 2et23d| 27,635 31,440 23,805
01 AtSZeltl 24,240 31,440 A7,200
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S ASD
M HFY2IZH(A=)
chel: D123l (et &3
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OfAM2gII=22ZH| 22,800
— Y Et=ZH| 50,0002 19 128 11,400
—= | 50,0002 19«12 11,400
O=AD| Xtz 120,000 *1CH+ 123 1,440
02 2324l 3,39 0 3,395
Oss= ZL2FN RE= 3,3%
—YERH 2503 *3,50024 875
-S4 1,750&+1,440A4 2,520
o4l 27,360 36,000 28,640
202 O4Hl 27,360 36,000 A8,640
01 =UObI 27,360 36,000 A8,640
HEFLI|=0H 120,000 x 19 x12& 27,360
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